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1.@& Pove that Aru'\?(@/" Z\ ) G-Ln(z/nz) ,

R
4 = 4 n
cohere (l/nZ\ = %/nl Xoeoe X /ﬂZ and

- [ 4

+- +imes

GLh(Z/nZ) =1 Ac Mh(zlnl)l I BeM(%.2)
ABR=RA =1

(b Pove that 0:GL (%, ) —GL (% ;)xGL (%)

IS & isow.orphrSm cwhere m oand n are @ pime.
Pos.'ln ve -'n+e3ers and
BCX) = (X (mad ), X (md n)) .

2 . Prove that there s Mo group G st G-O‘u Sy -
(Hint : . Shewd that 84 does net have an element
of order € .

- Notwe that N=S@,(t G 4,1 D 4, 1
(142 3)

IS o Nofmal .Sul:arouF of S, -
. Use the Previous s{:e\)s B conclude H\o\‘\,‘, F

H=8, , then H = Ay Hoo N, WP 1 And



i ~Z H |
so H/m 2% _ H/ian% ond

H/ @ ~ Z/ZZ X Z/3Z (': 83) . In particulr;
Z(H/ch)) =$1% -
« Notice that, ®# ™MaK ond M is abelin,

then K/M octs on M via Gwnjuaq'hbn,-‘-e.
@M).'x T= fo.fx‘k—i is cell-dePined $er~
‘keK O\ncl 'XQM )
3.Suppese A,BIG . Prove that, f G-/A ond &g
are abd(.ﬂ“o then CT/A(IB S a‘oel(om.

4~®‘F"‘J ‘G\'L (l'/ Z)‘ [Hm’i’ IF the gl?&".‘ 1 CO‘WMS
are ived , we have g-p U choce for the (I-r‘l) Qolu\mv\:l
@’vae that P s o ?-Sub%mucp of C—\Ln(Z/?Z)
then 3 qeGL (%) such that
8? - i[i “13] \ 0. e Z/ $ce 1:<a'3

5.Let G be o Finite Qroup - Suppose



n G = 1§9¢G | g'=1%|< n.

Prove that G is cacl(c..

[Hint : Let ¥mi:=|§9eG |ord(a) =mg| .
o Showw that, " Ym)zo, then Wmi=Dem).
cUse 2 pmi=mn . |

m|n
Q. Suf\r?ose, NdAG ond ’.?esnl?(N\. Prove that
G= NQ_CP\ N.

q. Suppese  p<qr oreprmes F G s o Finte
group o} order Pqr, then on Sylw r_&bam? IS

ﬂmal .

Chap+cr' 7., Problem 26, 28.
Chopter 72, Problem 3, 5.

Chapter 73, Problem 33.

Let R be aum"l’al n’na, and agNn(R\.Then
dIM (RY &= 3TqR, J=M(I)-

v = O her 0 0 0
(Mink - B GAE ; =ay B, ohee E‘.J )
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